Microeconomics — Exam

Part I: Multiple Choice Questions:

The multiple-choice question answers are in the attachment but have also been duplicated here
for ease of correction.

Question | Answer

1 D
2 B
3 B
4 A
5 C
6 C
7 A
8 D
9 C
10 D
11 D
12 C
13 B
14 B
15 A
16 A
17 C
18 C
19 A

B




Part 2: Longer questions

For part 2, I will do the questions on the Demand Side and on the Supply Side.

1. Demand Side
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¢) We thea use the Fitst orderconditions
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The U,h‘[(l:y Jrven this op limal consymplion is:
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So VY- 2¢C + 2E s equivalent to

Y= 2¢ +2 (2c¢ -30)
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Due to this now espresso price , Fie would consume
16,35 candy bars —amd 3,47 espressos.

e) To mainlan the same conSum.wa bundle a5 belor
Fie wovld meed ts have a LM(;/I' #:
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6 espressos.
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2. Supply Side
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o) In the (60? Fum, p=MC=AC s

MC = AC
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We plat Fhe price we foyad -
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We Know that at thes ptice the cadkvidval Firm
supplies 8 baguetles, and Q= mg
50 1600 = m x 8
and n = 200,

In the fn?- r un eqm'/c’!n'vm there will be 200 f.ras “
the marKek.
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